UrU—42
qumwwmmﬁa

qﬁﬁﬂmm:—m&qﬁ@mﬂ%ﬁmm%sﬁmﬁ%ﬁzﬁmwmﬁﬁ
Wﬂﬁﬂqﬁﬁﬁsoﬁ04ﬁwquﬁﬁHﬁwﬁmﬁmﬁl

FEIRIIYT ¥ B T — &5el —4.500 B0
S Frd oY @l Uit @Y R — 200000 e HRY g0 Pt 9000.00 arey

T (1T

El B BT A Tols (Ul EE ERTIT
0 70) (wo wfar 20) (w0 )
Yo RO Jal Bl

—1 |9d T \mEie gfar 20 71.00 71.00
" S o @ Ao (@] Bel g B JHS) —qaa— 2315.00 2315.00
5 | SaTel vl (B1=aT)150 J0HI0 DI TR —qad— 13932.00 13932.00
PR (150X1.20X.45)
2 |71 Qo @ e gd WU vg o —qad— SO 9860.00
e el T i Tl st Bt 8
TfeeT _
5 |weer @a (0.0.30X0.45) —qd— 9860.00 9860.00
6 | gfear g —qea— 400.00 400.00
7 |dw o B @em ) 75% —ad— 8000.00 8000.00
5 o g o9 39, GO SR ael Bl @ —qod— 805.00 805.00
3= PTaT W Y
9 |o=a B —qada— T0H0 1000.00
AT 45243.00
o aRoT—gaRIvT S
1 [rreer wRF w1 (0.0.30X0.45) Tfr 20 1760.00 1760.00
2 [owe & Bra (@ ad) 25% —Tad— 2000.00 2000.00
3 |9 e @i (100 fHoHi0 T®) —ded— 12000.00 12000.00
4 | <O 9 aerel —qaa— 3440.00 3440.00
5 RIS Ters g AfeaT (31 9R) —daa— 4180.00 4180.00
6 |@e 7 5d W ™ —ded— 500.00 500.00
7 |5em a8 § g &l aE—g g T—XEd W —dad— 3834.00 3834.00
= (9 AE)
8 5.1 gERITY & @ I e SR NG —Jad— 1000.00 1000.00
SToeTe aeelt Bl g
52 G<E AaTel /IRATG B ATER 4 W0 BT G —dad— OO 1000.00
QB T
i
agr%tw’%f
At S8, o fAcfac




8.3 gERITOr F SmIRaT e artar TR @ —Ja— SO0 2000.00
9 qRem ST ¥ uf¥err e sty
GRET W Seeradid @1 8y @Rt /it
I GIETET o |
9 (37U ¥Y WTEA 9IS Uy g Bg <IbYl, gaal, || —aea— 00 - 2000.00
IR SN 7 JERIT & THY qul F g 8
ueieie e mg 9f § @ fF IR wem
Wios WY DRI BT FaR—IER U4 SagHSTA
Afe B |
10 o=y o —qeg— 1500.00
IRT— 35214.00
Hel ART YW U9 T3 axo— 81457.00
JETRIUYT BT Yo a9 o] &—I@ENq
1 [RI99T 9 & SURIT YA a9 & SfqRErT B | gfar &0 ' 5152.00 5152.00
2 |21 JERIUY & @ =TI G99 HN-TB Od —qod— 0o 1000.00
STCTEI ueTdt B e Uiy g0
|22 T S @ A 4 Ao wed I ae | i 1070 2000.00
2.3 GERIYY] S ITaa 8 arel ATHo @Y —aeT—
M RET STTRRBIT B WG qerr o
T SrEHg w1 ¥ @l /afit
BT UICETET ST
ESE —qca— I0%0 6000.00
IRT— 14152.00
AR &7 g af &1 va—<aE
1 [RI90 99 & SR fgdig 9§ ¥ rgRerT H1d gftr g0 5152.00 5152.00
2 [o=T B —Tad— FI070 7000.00
AT 12152.00
JERIIYT BT FAT I§ DT NG—ET
1 [RIU0T 9 % SURIT qOTd 99 A STRErT o aRkT 80 5152.00 5152.00
2 [em1 B —aea— 00 6000.00
ART— 11152.00
FERIYYT $T agef a6 & @[
1[99 99 & SR age a9 A SRarT B ufd 2o 5152.00 5152.00
2 [erg Bt —qqg— 00 6000.00
ANT— 11152.00
JERIYYT BT YTad 9§ Bl \G—v@d
1 R 99 & SURIT G99 99 7 SIRETT BIY ufd 50 5152.00 5152.00
2 |31 B —Teg— F0¥0 6000.00
IHT— 11152.00
JETRIYY] T BS 99 &1 NGg—@ld
1 R g & SuRT Bo 99 A STReT 1Y afr %o 5152.00 5152.00
2 |era B —aqea— 0O 6000.00
ART— 11152.00
)
A
a.;r;@"?f“fm mi\ N
rgfo gUg, Gﬁcf\?\"eftn
ST (TgaTers fysior o fio o

PR (Tgar)



JERIYYT BT ATTar I8 BT G

19 T B SR AT 9¥ A e Hr afd g0 5152.00 5152.00
2 |oma B —Jqa— 00 6000.00
YT 11152.00
JEIRIYY T TSl a9 BT YET—Eq
1 [ 9 % SR araar a8 § IR BRI gf 20 5152.00 5152.00
2 | v —qag— <1090 6000.00
AT 11152.00
JERIYYT FT a7 a9 BT TG—ET
1 R o & SueT ada a8 § STRETTT BT ufer 2o 5152.00 5152.00
2 [V ol —qaa— 00 6000.00
IRT— 11152.00
JERIUYT BT ¥4l a8 BT @1
1 R 9 & Swr aaat a8 § IRET BRI gfd 80 5152.00 5152.00
2 (370 B —T%a— 00 6000.00
ART— 11152.00
HETIRT— 196977.00

1.00 80 & ¥ 2000 T /20 & RV UG TG R @ =

4.500 B0 &3 ¥ 9000.00 WY B I TG w_vaEg W Fg=

4500 B0 X 196977.00 /&0

%0 196977.00
= 886396.50

- 4T %0 886395.00

(iacmmf%&wﬂﬂsﬁmfﬁ?rﬁf?ﬁma‘;m)

{
ﬂ = fwtor gvs, Fﬁorﬁof‘t
AR (5

ﬁ'mf"r

O

EREILICIEH




